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1. All questions are compulsory.
. Extra time of 10 minutes will be given for |

. Each entry on Question Paper and QAB should

. In Hindi/English format of questions some

careful reading and understanding instructions |
as well as for making required entries in |
Question Paper and Question Cum Answer

Booklet (QAB). |

. Before making any entry on Question Paper !
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for another copy of Question Paper/QAB.
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SECTION - 1

(ST <A1 ¥1eg €T -30, 3iH-02)
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1. 0.2§?aﬁgémﬁwaaaﬁﬁm
Express 0.251 as a rational number in the form E.
1 .1 sy

2. 5@;%%4%@%%1

Find 4 rational numbers between — and

b
5

>0 W=

A
S.H%A:B:C=2:3:4,aa§: 1 9 J1d hifsa |

O|w

) A B C
IfA.B.C=2.3.4thenfmdthevalueofB.C.A.

4. mnaﬁsﬁﬁmﬁa%mw%aﬁmzmé,wﬁmmﬁmmznﬁséﬁwﬁa
ERISIGINS

When n is divided by 3, the remainder is 2. Find the remainder when 2n is divided by 3.

quT - 2

1. BIs ABC, forerb ¥finf & fdzriss A (4, - 6), B (3,—2)TA1 C (5, 2) &, T Frseh o M 1
T | o

Find the coordinates of the centroid of a triangle ABC, whose vertices are A (4, — 6),B(3,-2)
and C (5, 2).

06
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2. 60° U1 135° =l Ueaw | =5 Hifsw |
Express 60° and 135° in radians.
3. 6 9.7, T FFRATA U o 1 Fod TS Swel T shifg |

Find the total surface area of a cube of edge 6 cm.

4. 39 forg & Fdemes Jra AR (5, 2) 91 (2, 5) ! TemaTed Waravs &1 2 : 1§ ora: i
AR

Find the coordinates of the point which divides the join of the points (5, 2) and (2, 5) in

the ratio 2 : 1 internally.
T - 3

1. i) (1001), %! @i 7ol ¥ ulafda Hifs |

i) (10.11),, i TIieh 3Thi § SRl foram 7

i) Convert (1001), into Decimal numbers.

ii) How to write (10.11), in Decimal numbers ?

2. Ade BT ® %9 § %W U T (event) BH 3 wiRkiskdr 0.7 21 92 A 991 B & U el €1
TifeRar 0.2 @1 dt P(A)+P(B) &1 oM 310 Fif |

The probability that at least one of the events A or B happens is 0.7. If probability of

happening both the events simultaneously is 0.2 then find the value of P(A)+P(B).
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Insert three A.M.’s (Arithmetic Means) between — 10 and 14.

4. (56), \ Tpened s # afEfdd AT
b\ .
é‘l_ 1
o - 4 a6 m(nty)
o
1. we 9 EIRC : 150 T 25 % + 750 175 e e ]60*16@

reo+HEY

Convert (56)4p into Binary number.

Evaluate 25 % of 150 + 75 % of 750.

2.%*9%%1}@?@\ jge. BRENE

27
Change 35 into percentage.

3. g g e 150 &, T A 25 o 21 A1 SEeHT F Yed T hiisTe |

Find the cost price of an article if the selling price is Rs. 150 and the profit is 25 %.

o T FER 3% T 5 % TR E | Al 7 31 1 T I

@r\) (rnn-1)

4. 3y >t 7 A 140 § | afE T 3 I 2
o BN 379 3 T T h1 A T i |

The sum of two numbers is 140. If 2% of one equals 5 % of the other, find the sum of 3 times

the bigger number and 4 times the smaller.
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1. 38 PROMOTION foreft @iafirer &ewr § QSP89 g forar mam & | seft wiskferss @y & wse
EFN °
DEMOTION =1 o8 forar simarn ?
PROMOTION is written in some coded message as QSP89. How will DEMOTION be

coded ?

2. THTISh A 48 S Tl o | ST B T ot WAl o) T, Wl R wed o v B g oft) s
for T 3 gt fohem T w9 7

A student got twice as many sums wrong as he got right. If he éttempted 48 sums in all,

: R’ = %
how many did he solve correctly ? Bt "7?(//
o,

3. =l x v aref AT, + 1 37k W, — o vl o A + %7 o7k WET R, A 8x7—8 + 402 FAA I

o | ‘%\

If X means addition, + means subtraction, — means multiplication and + means %, /é '

1 N =3 4

division, then find the value of 8x7—8+ 40+2. Iy

4. Tgforl ot wh ufdd o, 1rem < Sl A 10 = R qen WA A & 9 off R, e €S weerdt 2| af
il &l see W, Asha (31mem) a7d & 15 51 21 STt 2, o ufeht o et Fohert oreforat § 7

In a row of girls, if Asha who is 10™ from the left and Meena who is 9t from the right,

change their seats, Asha becomes 15t from the left. Find the number of girls in the row.

I
x & ze
26 5 : =

l/y ' y& N_/ 06
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SECTION - 2
(e 1 ¥Toa HHT-60, FHeh-04)
9T - 1

5 113, 128, 138 3f., . . ., 24 Feft areh weedi F 14 70 F1 FA SERISIIGEAIS IS

Find the total area of 14 squares whose sides are 11 cm, 12 cm, 13cm, ... 24 cm

respectively.

6. T = T 160 %. ) o= Ll & | 98 3 R &1 T “ syt s AT 8 W 8.5 % AT
T ST Toveret 8, § ST Al ® | aReeEar TRTE. 2008.40 T % f1u, et fohe B = forg
Tof) TR s e g 7

Ravi saves Rs. 160 every month and puts it in a recurring deposit account paying 8.5 %
simple interest per annum. In order to get maturity amount of Rs. 2008.40, how many

monthly instalments of this amount must he deposit ?

qT - 2

5. W‘ABC%Wﬁﬁsﬁ%ﬁ%ﬁ‘eﬁm: (;2,—4), (4,3) T (-2,5) 8|
i) Fre ABC 1 8%a T shifo |
ii) 1 forg A, B 7o C WEig € 7

The coordinates of the vertices of a AABC are (-2,—4), (4,3)and (-2, 5) respectively.
i) Find the area of AABC.

ii) Are points A, B and C collinear ?
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6. TF Tges ABCD % 3twerta wfiern e v IS i =l el w1 st war 21 frg it
AB+CD=BC+DA.

A circle, inscribed in a quadrilateral ABCD, touches all the four sides of the quadrilateral.

Provga that AB+ CD=BC+DA.

9T -3

-

5. ABCD it & forereht wieh o1 ohl wwaits 4 1. R | U foirg P ol amgfoesan ol o atwat qeiian TrRn
B 141 forg P g/ AB W =1 19T S <l wiRiekar i hiferg |

ABCD is a square of length 4 cms. If a point P is plotted at random inside the square, then

find the probability of the point P to subtend an acute angle on AB.

6. afe &= T TIfdAl X, Y qer Z <l AR iEdl SHHST: 5 %, 45 % T 40 % B dl 36 ITER |
uTE AT TR |

Draw a Pie chart to depict the popularity enjoyed by three political parties X, Y and Z if

they have secured 5 %, 45 % and 40 % respectively of the electorate.
W - 4

5. A% %M w0 6 gmal B 8 g R | 3 3 ST fireie t Rl o 18 fo A e €, 9 A el 58
™ =) forad e d s garan @ 7

A is twice as good a workman as B and together they finish a piece of work in 18 days. In

how many days will A alone can finish the work ?
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6. T Stk U YT o Fg%d 1 fon. 1. &1 9w 10 e o, 9o vame & ufget 1 foh . =1 oot
30 Tz # 7 ot @ | 9T YaTe o6 Tid J1d ShifeTg |

A person rows 1 km downstream in 10 minutes and 1 km upstream in 30 minutes. Find the

speed of the stream.

v -5
5. Ifé GOD = Hishfdeh &9 H 26 @t s & aa DEVIL =1 g T=g =g 8 fo@m |

If GOD is coded as 26, then what will be the code for DEVIL ?

. b~ o= &9 1Y
6. 9 aed I SEW Fd T, § ol = o O
T ) 7 7R = T h
T 1 g% FEd 1,
g I T FEd &
Al STETS! al T @ |
If “CLOUD” is called “RAIN”, : )(\/\ ’

W2 :
“RAIN” is called “WHITE”, X A

%‘ .
“WHITE" is called “SEA™ and

“SEA” is called “SNOW?”, then where do ships sail ?

/
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SECTION -3

(S ) 712 FH1-100, 3H-08) 1)
(
| e
9T - 1

7. a‘g’qa'p(x)=x4+2x3—3x2+ax—b?ﬁ(x—1)H9JT(X—2)@W%}|WWW:—1SHW

[ 9T B § | 6 T T T S g

-6
1 —" e
) ad b AH 1d IR | I

. il
ii) TS 6 SgUE p () T (x + 1) A AT &7 R AT AT G 7 !/“{:ito,w‘

When a polynomial p (x) = x* + 2x3 — 3x? + ax — b is divided by (x — 1) and (x - 2), the
remainders are respectively — 18 and zero. Using remainder theorem e /‘9
R 75 S
() "' 16 — 0 /(9 ol

i) Find the values of a and b.

‘ {4
ii) Determine the remainder when p (x) is divided by (x + 1). (&5 & + M,@) =2

% R e K e lo -
HIE 2 (@ S 0’7 8 %(/ %0 & ,9"2&*%0— ;

NERAP (g)ﬂ'
7. af& cos6+sind =+2cosO ﬁa‘fﬁ:@ﬁﬁmﬁ cos—sin®=+/2sind.

If cos 0+ sin0=~/2c0s 0, then prove that cos 6 —sin 6 = J2sine.

06
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@7. Afeer fofr, @ awa iy
784 + 511 — 287 — 186 + 432 — 279
Simplify, using Vedic method. \\ 5

784 + 511 — 287 — 186 + 432 — 279

9T - 4
Zﬂ’_m.

)we
ﬁ@wm10%mmﬁaﬁaﬁwmmﬁmmwm
p( ey Bl = feo

b oGeefo)
loo oo 160 =\ i

The difference between the compound interest and the simple interest on a certain amount

400 %. 3 | 9 goieF q1d shifsr |

at 10 % per annum for 2 years compounded annually is Rs. 400. Find the principal.

C¥TT-5 gLﬁ—@@
== gk Oca~”

@ﬁumﬁ,-(?)%wm@m%@: . b, 00
WritWe table given beIO\\N* L YA
e Wk

4 |3 | 2|9 |8|erat>y b

| P
- YL &W

?
i ¢
VA
a o %
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SECTION -4
(3T 61 3158 HiH-250, 34'%—20)-
(3@ wus ¥ farfie it & For 03 wew fag wme |
arvel Y o A wig 02 IW A BhY)

qamm -1

8. 7T % Wi 311 Rs. 75,000 2 | 98 PF (wifiss ff¥r) & @ Rs. 3,500 wft A1e ST et e |
T 3 T 3 LIC Y 25,000 @t PPF i 15,000 % & (Premium) i) | €7l &1 S7/hms1 A
e Ted 9 | 10,000 . (100%@2)%19413@941@13 16,000 %. (50 % §e) «ft am &Rt |
afe TR 1o iR ot @ S 11 7€ @ 8,000 %, AR <1 &1 A1 WA & 1 H 3¢
foraT SRt ST S B 7 (SR % 37d § wRefl <E).

Akash’s monthly salary is Rs. 75,000. He contributes Rs. 3,500 per month towards
PF (Provident Fund). He also paid Rs. 25,000 as premium for LIC and Rs. 15,000 towards
PPF. Akash donated Rs. 10,000 (100 % exemption) to Prime Minister’s relief fund and
Rs. 16,000 to an orphanage (50 % exemption). Calculate the income tax, he has to pay

at the end of the year, if he 8,000 per month has already been deducted as tax from his

salary for the last 11 months. g
(\CQO/ 3,800 K 1L Yz,000
W Slabs : 25, 00D . 2l e
_ A &8 . 1S 00O
Taxable income Income tax x\z \ o, roe-
y
0—2lac NIL \5507 8 099
%
° 002
2lac—5lac 10%-3%0 40— e
5 lac — 10 lac 20% - 60 @M%)
- il
10 lac and above 30 % : 30, 60 e g

/é\Aucation cess = 3 % of tax to be paid. (Zj

11- 06




MGC - 14 OO O

| - 3
8. i) wemiftam & fafymean fflaw aun s fowrsar 1 guia fifsg | 10

Describe the characteristics of algorithms and explain each characteristic.

1
i) 7 3R 7a;aﬁaam$mwsmﬁm| 10
’ .

Insert 2 harmonic means between 7 and -

AW -5

8. & T SR I g, fad T Tl % IR i)
gmaﬂ?mﬁmﬁ.ﬁmé:aﬁétgm@aﬁﬁmm%w@?ﬁw—ﬁﬁ%wﬁsn,
T Qe Tge §

g . g i Moe & ged o 9 @ I a2 | T A A S R awmweh A 9 R
auT 1 efRat . e il M i afeat € | o= tga F ad R
1) R SEm e 7

2) TgA hi Tl ST T AW 2 7

3) 37 M T =t o fwar @ 7

4) =T IR G HT A T R 7

5) et o, o 1 e ek eI 3 7

Sudha and Ashok are child[en of Mr. Mishra. Sudha marries Sunil Soni and Nisha, Riya

and Rahul are born to them.

Rahul is married to the eldest daughter of Mr. and Mrs. Goyal. Surbhi is younger to Shruti

% and older than Sakshi and all are daughters of Mr. and Mrs. Goyal. Tanya is Rahul’'s

daughter.
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Read the above information and answer the guestions given below :
1) What is Nisha’s surname ? /vg?@u: e |
2) Who is Rahul's wife 2 shwt S“"“{ \QW‘ -
3) How is Ashok related to Riya ? Mm M
s,
4) How is Tanya related to Sudha ? ?}M tﬁd
5) How would Riya address Mr. Mishra ? WM . Sudhy — nd Croned
| Qg - 5 N)NWﬂj{*é»gé%
SECTION - 5 Tongor *
(IR I Teg THT-500, 7H-40) Swdh Shoty’
(e s ¥ oo v A g 02 T RS | s el
snzrefi @ T A WIS 01 T A BhY) | T,

T - 2

8. i) T BuwABCH XY | AG a2 XY, frsst ABC %1 2 wer sl # wieen & 6 AX : AB 10

A N
BICEAIS 1Y JAC (A‘ﬁg/ 20

&
In a triangle ABC, XY | AC and XY divides the area of the triangle ABC into two ]
) il
equal parts. Determine AX : AB. E C A o)

i) 10 cm. BramETe 9 %1 Brergue w1 0 90° } | 38 HigH qUT B wre! sl e w wh
3isp =61 Fmior kT | 59 X% 1 STRIA T IR | 20

A sector of a circle of radius 10 cms. has the angle as 90°. It is rolled up so that the

two bounding radii are joined together to form a cone. Find the volume of the cone.

A — af/\/[_ };’V% -
% T s 13 06
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8. a) = & i IREl i =W ¥ IS AT IS T WAL oh IW < | 30

T 8 wedl 8 foamer g STerT-3Tem 51 § oy JORhR SRR TR ford T | foetor 5w

YR 2 |
aT —— LC) TR forem foe wd qotes | guT Aan
EEpICiD!
l e Uiy | & S0 | ® 75N | % 1@ % 1 9@ %, 75 &N
— .
SHatl - AR 15 04 20 18 04
e - S 19 02 25 20 02
SIS - faarR 13 20 04 22 03
e - femrer 14 08 2 16 04

i) WA 8 T R TR R, et GO B e i @ 7

i) TR T R g A § R T 7

i) U HEAT A 2 [ERR e 6 & W, 3 uTSiEar § 9971 HARSH < & H uTed TR | 39
T qERT T TR e |

iv) A Gen Y 35 % URT I A B ) o1a e ¥ ue fead afr R ?

A4- 06
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8. a) Study the following table carefully and answer the questions :

From January to December, state has organised many award ceremonies in different
fields. Details are given below :

Field — — - Sports Entertainment | Education Science and Social Service
Technology
Time Period
l Award amount Rs. 50,000| Rs. 75,000 Rs. 1 lac Rs. 1 lac Rs. 75,000
—_—>
January — March 15 04 20 18 04
April = June 19 02 ~ - 25 20 02
July — September 13 20 04 22 03
October — December 14 08 21 16 04
6 24 2 - 3 e
67 i) Number of awards glven in the field of ‘Entertainment’ is what percent of total
3y number of awards ? * ¥ -’2:“ rleoSe

/ 11*
£ ii) In which field, maX|mum number of awards were given ? S¢ Tets .

-‘zfé

“iii) An organisation won 2 awards in the field of ‘Education’, 3 in social service and
/ 1 in the field of ‘Entertainment’. Write the total amount received by the organisation.

iv) The organisation has donated 35 % of the amount received. How much moneyis

%
left with the organisation ’? Foox = .%/5
s ¥ RS
_J_,QDJL“’P'—‘— AL I /— _/)’ ‘7 \7‘0&;&

8. b) @ﬁmﬁ@%ﬁlﬁa%a}ﬁﬁ%\@m 35 % ! Y T T W 20 %ﬁwna'r(@zl
3T 1T % s e 22 . o1 3T AT | Th i T SAfehd e T hlTer | 10
A shopkeeper sold two coats of the same value. One was sold at 35 % discount and

another at two successive discounts of 20 % each. Thé difference between their

selling prices comes out to be Rs. 22. Find the marked price of one coat. , 0 ! ;%
- gl
éé)()' %W%@ 13 x M6y = VL. LA NS, P
)_ 20 S Tle "o 190
L5~ BL=" bt
— -15- JoD : g0 . G071
u w22 AQ' loe
)&

9&@ ‘
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